E‘Ql‘i{—%q’IOS FE(E) %:amﬂ%ﬂﬂﬁp ‘EH“F%*‘ RAL
W %= CH2 =4 B AR A

— S EEIROA 32 ), B8 ) A4 RS S RER2 S ZERERKESE0H)
( ). AL EFEE o T T EERE 7

(A) oA —BEAB=2(1,-3)-(2,6)~(4,24)

(B) taH — B @2 (—1,2) B x4y sh#lia

C) WA —BHRAEHL x+y—1=0 x+y—T7=0# 4 BB oL 2x+y—1=0 L
(D) (x=3) +(y+1)" =7 Lay s R 3x+4y+1020

(B) 2x°+2)° +x—3pt2=0 #4#nir2

()2 £P@LFERP > TWHESRS 2|x|+|y[<2 Plab) £l #BKM » AT 74t
o & A 7

(A) TEEMEFHES R
b—4
@%7T%kﬁ%4

@) (a-1) +(b+2) B s 17

D) (a-1) +(b+2) ey a2 1
(E) @414 |[da—3b+5|th &/ MEH 1

( )3.%A(3,1)B(—2,3) T%?'J“)?Fﬁbkfﬁ”ﬂi TH4 Li3x—y=Fk $148 P AB FAR % 7
(A 78 (B) 5 (©) 11 (D) —5 (E) —log,1025

Li:2x—y=4
()4 THHE kA THEFZEG L 3x-2y=T@EAH =AM
LiiSx+ky=11

W4 B -1 (© -2 D) *]30 E) -3



— A (56 5 o T ERAT)

e S 3 4 5 6 7 8 9
EP 8 16 24 30 36 49 48 52 56

1. %82 P(—2,1)8E C: ’+O+3V=4 g aEH =X

2. #EC: X+ —6x—10y+a=0 BAH L x—2y=biannE (¢, 1) KLY

(a,b,c)= o

3, iﬁ%@ifmaﬁ@aﬁg\@%wﬁW%mag,Q[ggquﬂg%%$%o,

BIL > L, 9 3L AT A .

4, Bho—EBBA(L,S)B(—1,3) Mm% M xR 2L EA2V6 o RLE T2

A o (SAE I K M 55)

S, Cix*+y +10p4+9=0 B C EAmEd L 3x—dptk=0 thIEse A 2 REEH k

fh $0 0

HEA)



6. A(0,8)Y  B(—3.14) » % PABE C:x+) +2x—2p—3=0 L% % » £ APAB & #
S

7. mmAER-EE ) ATy F10=0 8 A% y=m(x13) £LETEHLHRE@ET
TR TR G R > M LAk m 2 ERBE B a<m<b B EH@.b)=
(At 6 o 8)

8. ABGSLC:i(x—1)+(y-20 =1 » @ Plixtht > HOKLRECH LAP+POH
BobE =

0. — MBI FTRAM T TR E A AT & e EAE £
ABCDEFGH RN » ho Wi B o 40 BAZ &8 ax+by+3
(BPa b BAETH)OFIERBEALE B - HME B
YA I brtay ¥ BABGRAELTIM-H__ © .




CEHHE (12 4)

LE@FEA T200 FHARGEREA L ZUARARE6900 & R ERARE A B H
REL  ARBEEEL 160 FH AR #1240 70 BRELHEL 240 FH AR > &
BISO0B T - AM A -BREELEEL, BEPHERS?



|
L,

=B AR E

A F108 2 F (L) —REAFE BEH
B[ % = CH2 = 3 o g
—~ B EREA (K32 0 HE8H o K —EES 5 RAEE2 5 B L kA EF05)
ls CD 2. C 3. ABE 4. AB
Z B (156 5 w T &)
BB 1 2 3 4 4 6 T 8 9
5 8 16 24 30 36 42 48 52 o0
. 3xt4y+2=0" 2. 3.
(14> 35 5) 1+ 2
x+2=0 ( )
4. (x—2Y+(yp—2)Y=10 |5. 6.
1. 8. 9.
2 .5
(E 5) N65—1 H
= HEA (22)
BA R AP By P
Al P 3 P=x+y - (1 4) y
x20 »y20 'x ryeZ .
RABE D KX A 160x+240y < 7200 : (2 ) \
240x+150y < 6900 (0,3\0)
ﬁfﬁ%ﬁ%(o 30)1(171 18f),(28% 0) (B3 %)
] | | | i} i x
0
\ 17, 18)\ 16,19)](18,17)| 28,l)| (28:(,{\
T N
A=15 _ [4=16 _ [4=17 _ [A=18
A:J:; i’é}\ : ﬁ‘ E\ 2‘ JI:: &e ?}% 3 = o _/'&\. /\:;|‘.——- N
S {Bzzoi{le‘)&{legﬂk{B:H ORELB P MR S 35 F (6 40— {402 5

4o 7% A Ak )



